ACTUATORS

METRIC S/INGLE CONVOLUTION

00

(0] 0]

LN

)

Tirestone

D) World’s Number 1
oltions for Life Air Spring.
FIRESTONE INDUSTRIAL PRODUCTS COMPANY




16

NOTE: All Assembly Order Numbers are for bead plate

parts unless noted otherwise.

Description Assembly Order No.

Style | Blind nuts, 1/4 BSP

16 Socket head aluminum bead
Two rings (bolts, nuts, washers not
Ply included-use M6 cap screws)

W01-M58-6140

W01-358-0017

Bellows | Rubber bellows only W01-358-0010
Assembly WEIGHE i mmsmmniasmsssissirs wvi 1.13 kg.
Force to collapse to minimum height (@ 0 BAR) 133 N.
M-8x1.25 1/4 BSP
15 mm DEEP AIR INLET

t M8=25 Nm 44 mm
152 mm MAX 0.0, ——"=
’ AT 7 BAR

[l il
L-'— 114 mm DIA.—'—I

NOTE: A bead plate part is shown. This part is
also available with bead rings. Bolts are not included.
See pages 8-10 for explanation.

e .
DESIGN HEIGHT Static Data
?Slmrrl. 7559
10 NBERL AR 11
Do not use Airstroke in |
| shaded area without | N
gl consulting Firestone
| |
|
— |
8 i
|
i |
g | |
_ [ e !
8 __‘U’OLUME i
.8 \\ —
=~ B \R/
= V\
=
e | 5 1
AR - |
<8]
g I /T/
o 4 ?
S EL A
SN %
3 A
i / //| sl
P
717
A
e
|~ |
o LR | | L1 ;
90| 85 80 75 70 65 60 5 150
MAX. ) MIN.
HT. 88 Height mm. HT. 51

See page 12 for instructions on how to use chart.

10

Force kN

Dynamic Characteristics at 75 mm Design Height
(Required for Airmount isclator design only)
Gauge Spring Natural
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz
3 2.04 140 413
4 2.76 177 3.99
5 3.52 217 391
6 4.36 256 3.82
7 5.10 293 3.78

Force Table (Use for Airstroke™ actuator design)

Assembly | Volume | EFF Area kN Force
Height |@7BAR (@7BAR | @3 | @4 | @5 | @6 | @7
{(mm) fcucm) | (cm™2) BAR | BAR | BAR | BAR |BAR
80 575 61 161 | 225 | 289 | 3.62 | 4.26
70 492 83 237 | 3.20 | 406 | 498 | 5.81
60 390 99 285 | 3.88 | 489 | 595 | 6.93

s vLD

www.LDA.be - LDA@LDA.be

& +32(0)2-266 13 13




ApﬂSﬂﬂﬂﬂE

ATORS

RECOMMENDED .
oebh b Static Data
Sl B4165
- 10 — i 10
Description Assembly Order No. . |
- Do not use
Style | Blind nuts, 1/4 BSP W02-M58-5001 Airstroke in
16-ST | Stainless steel plates W02-M58-5003 g | shaded area | . 9
without
Two consulting
Ply —~Firestone
Bellows 8 I : | | 8
e Ao — 0.58 kg. \Ik /
Force to collapse to minimum height (@ 0 BAR) ~ 35.5N. I [ \ ' B EAR]
Ll S ) \ / / !
= : . " 1BAR —
O =
= 6 | ! 6
M-8 x1.25 1/4 BSP =g l / ] E
BLIND NUTS AIR INLET g [ 7BAR / 7 6 BAR @
15 mm DEEP 5 VOLUME | / S
b E : : e - 5 O
3 1
. o [ | ] =
0] R - 5 BAR
e [ / /
2 4 A — 4
e
*M&: 25 Nm > / | /f\lB‘AR
44 mm / / 3
EMENE :
4 3 BAR
HEIGHT / / '
/ 1 : 2
e /
5 _
= 2 BAR
~—— 114 mm DIA —-—| //
152 mm MAX, 0.0, ——=—| ,__.._-—————""”““#f 1
—— 1BAR 7
B4165
| | 0
80 70 60 | 50
NOTE: The bellows extends beyond the bead plates MAX. MIN.
at minimum height. HT. 89 Height mm. HT. 53 mm
See page 12 for instructions on how to use chart.
Dynamic Characteristics at 75 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assernbly | Volume EEE Area kN Force
. Height @ 7 BAR |@ 7 BAR @3 | @4 @5 @6 @7
Gauge Spring Natural (mm) | (eucm) | (cm™2) BAR | BAR | BAR | BAR |BAR
Pressure Load Rate Frequency
(BAR) (kN) (KN/m) Hz 80 460 5524 | 152 207 | 264 | 329 | 387
75 426 65.63 185 | 253 | 3.20 | 3.94 | 459
3 1.85 132.58 4.22
7 T 214 | 29 : 4.51 :
4 2.53 171.56 4.1 2 = e 2if o8 P20
5 3.2 209.02 4.07 65 343 83.28 242 | 327 | 411 | 5.00 | 5.83
6 3.94 246.21 3.94 60 303 90.11 267 | 3.56 | 446 | 542 | 6.31
7 4.59 281.12 39 55 256 97.34 292 | 3.86 | 483 | 5.86 | 6.81
. I D www.LDA be - LDA@LDA.be -

=

+32(0)2- 266 13 13




131 Frestone

[UIRSTROKE

RECOMMENDED -
NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
parts unless noted otherwise. DESIGL T RHE 6512
Description Assembly Order No. SR | aEE
i -M58- — Do not use Airstroke in
Style | Blind nuts, 1/4 BSP W01-M58-6155 B o without
131 Socket head aluminum bead 22 |— consulting Firestone — N
Two rings (bolts, nuts, washers not E | | =
Ply included—use M6 cap screws) | W01-358-0127 L | 8 BAR
Bellows | Rubber bellows only W01-358-0131 20 |- i 10
|
| B
. 18 | 19
Assembly weight............cooiiiiii 71.1 kg. .- |
Force to collapse to minimum height (@ 0 BAR) 142 N. = i N
18 8
o | | _
= i
= -
<14 : 7
E = 4 /
. | 7BAR
Bx1.25 2= & |
!tv;?nxn: SEEP mﬁﬁfm 8 VOLUME / _ 6
(1h) [ —
e N
S0 =——N e
O — —r
= /|
=R sk
s A | _
M8=25 Ni L
m 44 mm - / |/ 1
165 mm MAX 0.0 ———= ot // /
AT 7 BAR [ 7._|
O T U ; =1 /’|V = 5
HEIGHT ///I
|| 4 _
L-—TMmm DIA —-J 2 B ,/, : 1
= ’/ [
== 6512 | _
o EEEEEEED | - L L]
T 0
. . | 120 | 110 100 90 80 70 60 ]50 40
NOTE: A bead plate part is shown. This part is MAX. MIN.
also available with bead rings. Bolts are not included. HT. 114 Height mm. HT. 51
See pages 8-10 for explanation.
See page 12 for instructions on how to use chart.
Dynamic Characteristics at 90 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
Height |@ 7 BAR |@ 7 BAR @3 | @4 @5 | @s @7
Gauge Spring Natural (mm) | (cucm) | (em*2) BAR | BAR | BAR | BAR |BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 100 982 78 1.96 | 283 | 365 | 4.63 | 548
90 880 93 250 | 351 | 448 | 557 | 6.54
3 2.50 103 3.20
80 774 105 290 | 4.01 | 510 | 6.30 | 7.38
4 3.51 133 3.07
70 652 115 323 | 444 | 561 | 6.91 | 8.08
5 4.48 162 3.00
60 529 124 351 | 479 | 6.05 | 741 | 8.65
6 b.57 193 2.93
7 6.54 221 2.90

Force kN

0 vLD

& +32(0)2-266 13 13

www.LDA.be - LDA@LDA.be




IBST80K£. IRMOUNT ‘F resfone

NOTE: All Assembly Order Numbers are for bead plate RERRMOUNT Static Data
parts unless noted otherwise. DEa ot 9258
Descrii 32 . 16
ption Assembly Order No. ] T | | | I
: MER. | Do not use Airstrake in .
Style | Blind nuts, 1/4 BSF‘ W01-M58-6145 e e without | | | gBAR //_
110 Socket head aluminum bead consulting Firestone
Two | ings (bolts, nuts, washers not '
py | included-use M6 cap screws) | W01-356-0112 28 L
Bellows | Rubber bellows only W01-358-0100
Assembly weight.........ccccoiiiiini e 1.36 kg.
Force to collapse to minimum height (@ 0 BAR) 36 N. eA 12
o
O 20 10
=
x <
e £ 9
%?nxm éEEP quzﬁﬁfﬂ o g
a 16 8 L
()
=
=
@]
>12 6
* M8=25 Nm 44 mm
211 Q{n}h{;ﬂéo D 8 ] . 1 | 4
18] LIy (] 1 / ]
HEIGHT /
| | 4 y . | | | | 2
L'— 114 mm [}m_—-—j V / f
/ :
— // 1 | | 2
/ -
9258
o L 4/ i | | | L1,
160 | 140 120 100 80 60
NOTE: A bead plate part is shown. This part is MLX MIN
also available with bead rings. Bolts are not included. HT. 152 Height mm. HT. 51

See pages 8-10 for explanation.
See page 12 for instructions on how to use chart.

Dynamic Characteristics at 115 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
Height | @ 7 BAR | @ 7 BAR 3 4 5 6 7
Gauge Spring Natural (mm) | (eucm) | (cm*™2) é@m é@AR é%\R B(?\R f?\R
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 130 2268 80 203 | 290 | 375 (474 | 558
120 2167 103 276 [ 386 | 495 |6.14 7.18
3 3.10 99 2.82 10 | 2037 123 | 341 |468 |59 |7.36 | 861
4 4.29 127 2.72 100 1898 140 392 | 534 | 678 |836 9.78
5 5.48 157 267 20 1733 154 433 | 592 | 749 | 923 |1080
80 1568 166 464 | 639 | 808 |994 |11.62
6 6.78 189 2.63
70 1379 176 489 |677 | 858 |10.55 |12.30
7 7.92 218 2.62 60 1198 184 | 509 | 705 | 897 |11.03 [1285

L D www.LDA be - LDA@LDA.be 41
‘ & +32(0)2-266 13 13



NOTE: All Assembly Order Numbers are for bead plate RE&%’%E:’;?ED Static Data
parts unless noted otherwise. R i 7557
Description Assembly Order No. WETTT 7 | | | T 1%
i Do not use Airstroke in 8 BAR_~—
Style | Blind nuts, 1/4 BSP W01-M58-6166 _—shaded'area_wilhoul ]
116 | Blind nuts, 3/4 BSP WO01-M58-6165 85 |t irestone 118
Two | Gountersunk steel bead rings B |
Ply | 40 mm bolts, nuts & washers| SEE NOTE BELOW | 7BA
Bellows - | 1]
Rubber bellows only W01-358-0133 32 i l / 16
Assembly WeIGht...........cccoveiieeriierereiceensesies e 1.95 kg. ': 7BAR | | . 1]
Force to collapse to minimum height (@ 0 BAR) 36 N. VOLUME ! 6 BAR_—
28 e | 14
Style | Blind nuts, 1/4 BSP W01-M58-6176 P / T
17 | Blind nuts, 3/4 BSP W01-M58-6175 8
High | Gountersunk steel bead ri =24 5 BAR —1| 12
Strength ersunk steel bead rings ¢ J = =z
Con- | 40 mm bolts, nuts & washers| SEE NOTE BELOW b <
struction e [ 1 1 59
S0 1106
= [ |
o I 4 BAR =
M-8x1.25 114 BSP g /I
15 mm DEEP AR INLET _O.. 16 8
> | 4
12 // 6
/71 Pl
N vig-25 tim 70 mm 8 S [ | 4
231 mm MAX 0.0, ——= — |
AT 7 BAR -
W T ! 1BAR =
_.-—-"'"_'_'_"_.__—
HEIGHT 4= ! =T | 1 2
- ! I l
! 135 mm DIA- | g 7557 —
o - 1 | | | | 0
160 | 140 120 100 80 60
MAX. . MIN,
NOTE: A bead plate part is shown. This part is R Height mm. I 31
also available with bead rings. See pages 8-10 : -
for explanation. See page 12 for instructions on how to use chart.
Dynamic Characteristics at 115 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height |@7BAR |@7 EAR @3 |@4 | @5 @6 @7
Gauge Spring Natural (mm) | {cuem) | (cm™2) | BAR [ BAR | BAR |BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 130 2635 110 286 |4.04 | 517 |651 | 7.71
120 2506 138 375 | 520 | 660 | 820 | 9.65
3 4.16 132 2.80 110 2341 163 | 4.54 (622 |7.86 |9.70 |11.38
4 573 169 2.71 100 | 2164 183 | 520 [7.07 | 892 [10.95 |12.82
9 1 201 T .84 84 |12 g
5 7.26 207 267 0 956 0 575 |78 9.8 2.04 | 14.07
80 1745 215 6.19 | 845 |10.59 |12.91 |15.08
6 8.98 247 2.62 70 1509 228 6.54 | 8.91 |11.18 |13.64 | 15.92
7 10.55 285 2.59 60 1280 236 6.82 [9.20 |11.58 |14.17 |16.55

42 www.LDA.be - LDA@LDA.be
‘ L D & +32(0)2- 266 1313



AIBSTROKE, JIBMIUNT.  Firestone  116-1

ACTUATORS

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
: DESIGN HEIGHT
parts unless noted otherwise. 140 mm. 8776
Description Assembly Order No. E— ' e —
48 — Do not use Airstroke in 24
Style | Blind nuts, 1/4 BSP WO01-M58-6171 — shaded area without =
116-1 — consulting Firestone
| i ]
44 ! -
Two = 22
Ply
Bellows 8BAR |~
=—— 2
Assembly WEIGhL...........cccovvevvveieee s 2.04 kg. /
Force to collapse to minimum height (@ 0 BAR) 165 N. 36 : | \ / | 7 BAR ____: 18
N\ / i
o32 16
= \/ 6 BAR |_—=
M-8 1.25 1/4 BSP X'ZB / \\ ] L
15 mm DEEP AIR INLET g | /] )i ] g
5 5 BAR - o
324 | /| / \ — |12 L
- # AN
=20 / / 4 BAR\ 10
o d e /,/BK-'"”
- / P TIS
M8=25 Nm L / 1 IBAR —_— 8
S Vgl
ST | / | 6
o SV
HEIGHT L
i 0 P |
le—— 135 mm piA——] 1BAR |
' | 8776 _
| | | | || 0
120 100 80 60 |
NOTE: A bead plate part is shown. This part is MIN.
also available with bead rings. See pages 8-10 Height mm. HT, 51
for explanation.
See page 12 for instructions on how to use chart.
Force Table (Use for Airstroke™ actuator design)
Assembly | Volume | EFF Area kN Force
Dynamic Characteristics at 140 mm Design Height Height |@7BAR |@7BAR | @3 | @4 | @5 | @6 @7
(Required for Airmount isolator design only) (mm) (cu cm) {cm™2) BAR | BAR | BAR | BAR BAR
Gauge Spnﬂg Natural 140 3678 160 445 5.94 o2 9.42 11.18
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 130 3491 180 508 |6.77 | 8.55 |10.66 | 12.61
120 3301 197 561 |747 | 942 | 11.71 | 13.82
3 4.45 108 2.46
10 3085 213 6.07 | 8.06 |10.18 | 1263 | 14.89
4 5.94 138 2.41
100 2869 225 644 | 854 |10.79 | 13.38 | 15.75
5 7.52 170 2.37
90 2628 236 6.76 | 894 |11.31 |14.02 | 16.49
6 9.42 205 2.33
80 2391 244 7.00 925 |11.72 | 14.51 | 17.05
7 11.18 237 2.30
70 2130 250 719 | 951 |12.05 1491 | 17.50

L D www.LDA.be - LDA@LDA.be 43
‘ & +32(0)2-266 13 13



115 Fivestone  [ARSIROKE, [IRNOUNT

RECOMMENDED

NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
parts unless noted otherwise. DESI ot 1115
Description Assembly Order No. e | EEEEREpSYs 2
: — Do not use Airstroke in b
Style | Blind nuts, 1/4 BSP WO01-M58-6375 - shaded area without | / :
115 | Biind nuts, 1/4 BSP 48 CDll'ISLlllmg Firestone ' 24
Two | rubber bumper WO01-M58-6376 - — A .
Ply | Blind nuts, 3/4 BSP W01-M58-6374 a4 : 7BAR 22
Bellows . = |
Countersunk steel bead rings, - i x
40 mm bolts, nuts, washers | W01-M58-6977 40 | | ] 20
Rubber bellows only W01-358-0118 | 7BAR 6 BAR
— VOLUME /
| - 18

Assembly walight:covasminnaiemsy 2.49 kg. 36 | ‘
ini i 36 N. u \ / /

Force to collapse to minimum height (@ 0 BAR) = | /
O L ! , | = i
Style | Blind nuts, 1/4 BSP W01-M58-6181 =12 I X\/ ! = 16 .
, :
124 | Blind nuts, 3/4 BSP W01-M58-6182 = B / \/ = 1
High ' ' Q
g £28 14 @
Strength 6 B / g
Con- = - ; - : d
struction O | $ L]
=
=2
M-8 1.25 1/4.0R 3/4 BSP 020 i / - 3
BLIND NUTS ARINLET >

15mm DEEP
44 mm* 16
12
*(38.1 FOR 3/4
‘\ BSP Port)
M8 =25 Nm
TORQUE 89 rmm —==— 8
257 mim MAX 0,0, ———==
AT 7 BAR
OPTIONAL HEIGH] — =
. 5 = 1115
L o I | L | 0
le—— 160 mm piA—— 140'[ 120 100 80 60 |
MAX. ) MIN.
HT. 139 Height mm. HT. 51

NOTE: A bead plate part is shown. This part is . .
also available with bead rings. See pages 8-10 See page 12 for instructions on how to use chart.
for explanation.

Dynamic Characteristics at 115mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height |@7BAR |@7BAR [ @3 | @4 | @5 | @6 @7
Gauge Spring Natural (mm) | (cuem) | (cmsa) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 130 3467 144 395 |[537 | 681 [851 | 10.05
120 3265 180 513 | 693 | 875 |10.78 | 12.63
3 5.64 175 2.78 10 3030 213 611 | 825 |10.40 |12.74 | 14.88
4 7.63 229 273 100 2794 239 6.92 | 933 | 11.74 |14.34 | 16.73
90 2525 263 766 |10.30 | 1293 |15.75 | 18.37
5 9.62 282 2.70
80 2256 282 824 |11.08 |13.89 |16.91 | 19.70
6 11.81 336 2.66 70 1951 207 | 862 |11.65 | 1464 |17.82 | 20.76
7 13.81 385 2.63 60 1650 307 888 (1201 | 1514 [18.46 | 2149

44 L D www.LDA.be - LDA@LDA.be
‘ & +32(0)2-266 13 13



AIRS TBﬂKE IBMﬂgN{ ‘F irestone

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
parts unless noted otherwise. i il 9261
— 95_||||:'|'i| T T 1 48
Description Assembly Order No. Do not use Airstroke in o
Style | Blind nuts, 1/4 BSP W01-M58-6008 B shadeld_areg_mlhout T
19 | Blind nuts, 1/4 BSP, bumper | W01-M58-6373 Rt Firestone
Two | Blind nuts, 3/4 BSP W01-M58-6011 :
Ply | Blind nuts, 3/4 BSP, bumper | W01-M58-6372 80 |
Bellows | Countersunk steel bead rings, TBAR
40 mm bolts, nuts, washers | WO01-M58-6975 . '
VOLUME |
Rubber bellows only W01-358-0134 12 —H\\ '|-
| \I
Assembly weight (bead plate version, no bumper) 4.45 kg.
Force to collapse to minimum height (@ 0 BAR) 40 N. 64 Il N
= |
bt — 1 /
o 56 ! Z
2 | /Y =
§ | S
S s
()}
£ . /
73 mm =
(@]
= V4l /
*‘Maﬂsmm ——157 mim —== P
TORQUE
328 mm MAX 0.0, ————== / ]
L~ ]
oy 1] o * / — 8
 OPTIONAL ™ HEIGHT 1BAR —
i BUMPER | / | = T
ot (] ! L Mo ‘ ] | 4
I S p—— 211 0261 |
0 | | | - iy 0
1707 10 130 110 90 70| 50
MAX. Bumper ~ MIN.
NOTE: A bead plate part is shown. This part is HT. 165 Height mm. %g”“"‘:‘ HT. 51
also available with bead rings. See pages 8-10 i
for explanation. See page 12 for instructions on how to use chart.
Dynamic Characteristics at 125 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
] Height |@7BAR [@7BAR | @3 @4 | @5 @6 @7
Gauge Spring Natural (mm) | (cuem) | {emsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 130 6379 345 9.61 (13.28 | 16.74 [ 20.60 | 24.15
120 6004 398 11.24 (1549 | 19.48 | 23.85 | 27.87
3 10.49 290 2.62 110 5555 444 12.67 |17.39 | 21.84 | 26.65 | 31.10
4 14.46 383 257 100 5093 482 13.85 | 18.90 | 23.74 | 28.92 | 33.71
90 4566 513 14.87 | 20.18 | 25.35 | 30.86 | 35.94
5 18.21 471 2.54
80 4048 539 156.67 | 21.16 | 26.59 | 32.38 | 37.69
6 22.34 559 249 70 | 3474 | 559 |16.27|21.93|27.58 |33.60 | 39.13
7 26.15 641 247 60 2923 574 | 16.68 |22.48 | 28.26 | 34.45 | 40.15

L D www.LDA.be - LDA@LDA.be 45
‘ & +32(0)2-266 13 13



ORS

19-75 TFiwrestone  JUESTROKE JUBYQUNT

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
parts unless noted otherwise. DEI o o 4043
|
Description Assembly Order No. LT T | [ ] | i
Style | Blind nuts, 1/4 BSP WO01-M58-6040 96 [~ Do not use Airstroke in | —— 8 BAR 48
shaded area without -
_19-75 C cunsul(in]t_: Firestone [
Two 88 —— 44
Ply 7 BAR
Bellows = el
Assembly weight (bead plate version, no bumper) 4.53 kg. 80 \\ _ 48
Force to collapse to minimum height (@ 0 BAR) 67 N. 1 L]
6 BAR
72 / 36
=) o)
S 64 32
T 5BAR _|
% i 28 <
M-8x1.25 1/4 0R 34 BSP £ / = Q
BLIND NUTS AR INLET o ! il o
15 mm DEEP = — @]
O 48 ; 4BAR 124 W
(1] / /-"‘_
73 mm ! | | S—
£ i
S 40 ' i —(f2l
> / | / ]
“~ 32 T aear (18
MB=25 N 157 mm ——e= / / | N
343 mm MAX 0.0, ————= 24 / : — il 12
AT 7 BAR —
T T U T //"é BAR —]|
EIGH 1 / - ] - :
HEIGHT
3 | A T
T f___,_...—-——""'_—__ﬂ——- ==
[ 1] 8 | _1BAR _] 4
le—— 226 rm piA———] — il
. 4043 |
0 L | | | | " =)
0] 160 140 120 100 80 60
MAX. ; Bumper MIN.
HT. 177 Height mm. Contact HT. 51
NOTE: A bead plate part is shown. This part is 69 mm
also ava:!ab!e with bead rings. See pages 8-10 See page 12 for instructions on how to use chart.
for explanation.
Dynamic Characteristics at 140 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height |@7BAR [@7BAR | @3 | @4 | @5 @6 @7
Gauge Spring Natural (mm) (cucm) | (emsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kKN) (kN/m) Hz 140 7705 345 9.30 (1289 | 1644 |2049 | 24.11
130 7286 397 11.01 [15.15 | 18.21 [23.73 | 27.81
2 28 el £lY 120 6846 441 1241 |17.00 | 21.52 |26.44 | 30.89
4 12.89 356 2.62 10 | 633 480 | 1364 |1863 | 2355 |28.84 | 3362
5 16.44 435 2i5T: 100 5822 512 1465 | 1994 | 2519 |30.79 | 35.86
6 20.49 514 250 90 5243 540 | 1550 [21.06 | 2657 |3245 |37.80
7 24 11 589 246 80 4681 562 16.18 [21.93 | 2765 |33.77 | 39.34
70 4063 580 16.73 (2265 | 28.54 |34.84 | 40.60

46 L D www.LDA.be - LDA@LDA.be
‘ & +32(0)2-266 13 13




AlIRSTROKE IﬂMﬂ{IN{ ‘F irestone

ACTUATORS

NOTE: All Assembly Order Numbers are for bead plate AR RMOONT Static Data
parts unless noted otherwise. D el 4002
Description Assembly Order No. BT T T80
Style | Blind nuts, 1/4 BSP W01-M58-6101 I D’t: gotd use Airs:aoket in_| | . |
113 | Blind nuts, 1/4 BSP, bumper | W01-M58-6103 S ko Firesione
Two | Blind nuts, 3/4 BSP W01-M58-6100 14 i 12
Ply | Blind nuts, 3/4 BSP, bumper | W01-M58-6102 [ il | | |8 BAR _
Bellows | Countersunk steel bead rings B | -
40 mm bolts, nuts washers | W01-M58-7538 13 | | / | 64
Rubber bellows only W01-358-0135 LE i
ABBBBY WA o T 6.58 kg. - 7 Bﬁi :
Force to collapse to minimum height (@ 0 BAR) 76 N. 11 i | / | 56
Style | Blind nuts, 1/4 BSP W01-M58-6071 8 I / 6 BAR
128 | Blind nuts, 1/4 BSP, = T
e =10 . 8 -
High rubber bumper W01-M58-6068 < =
Con- | Blind nuts, 3/4 BSP, g 5BAR _ 3}
struction | rubber bumper W01-M58-6069 =8 VAR |1 0 QO
Rubber bellows only W01-358-0231 3
& / 4BAR
M-Bx1.25 — =6 — 1 32
. O L~ —i
s fas 5 BEsNEE
. —
/ 3 BAR-
5 24
! / / 2BAR -
3 // /_________,_.__ 16
* Mlagﬂzaﬁm — 159 mm —= 2 /)/ L 1BAR 8
386 rﬂh}!\éﬁ)ﬁﬁ.h. / - B
e .I = .- ,II. - ., S— . / 4002
" OPTIONAL | 7 e : : : — 0
\_BUMPER HEIGHT 70! 150 130 110 90 70/ 50
MAX. . Bumper MIN.
[ ik & HT. 165 Height mm.  contact  HT.51
257 mm DIA ———»= 69 mm
NOTE: A bead plate part is shown. This part is also avail- Sed page 12 for insbuctions ot how fo usa/chart
able with bead rings. See pages 8-10 for explanation.
Dynamic Characteristics at 125 mm Design Height Force Table (Use for Alrstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
Height | @ 7BAR | @7BAR | @3 | @4 @5 @6 @7
Gauge Spring Natural (mm) (cucm) [ (emsq.) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 140 10316 486 | 13.02 | 18.16| 23.20 | 28.93 | 34.00
130 9720 562 | 15.62|21.49| 27.24 | 33.59 | 39.30
3 16.72 416 2.49 120 | 9110 624 | 17.66 |24.10| 30.44 | 37.37 | 43.68
4 22.90 534 2.41 110 8411 679 | 19.40 | 26.36| 33.22 | 40.69 | 47.53
5 28.97 651 236 100 7714 724 | 20.81|28.23| 35.53 | 43.42 | 50.66
90 6929 762 | 22.00 | 29.85| 37.54 | 45.76 | 53.31
6 35.62 774 2.32
80 6159 790 | 22.89|31.08| 39.05 | 47.53 | 55.33
7 41.65 890 2.31 70 5306 813 | 23.54 |31.96| 40.13 | 48.87 | 56.93

v LDA 7



113-1

Fwrestone

IﬁSTBﬂKf

NOTE: All Assembly Order Numbers are for bead plate o Static Data
parts unless noted otherwise. EESIE LIS AB915
140 mm.
goeeg 16 ! 80
Description Assembly Order No. [T T[] TTT11
Style | Blind nuts, 1/4 BSP W01-M58-6371 _Eﬁagghuasri 2';3{[1‘:,':,‘*1 in
113-1_| Blind nuts, 3/4 BSP W01-M58-6369 4 | consulting Firestone BBAR o
Two Countersunk steel bead rings, Bt | : [ 12
Ply 40 mm bolts, nuts, washers | W01-M58-7539 | 7BAR
Bellows | rubber bellows only W01-358-0150 —.\VOLUMlE
ASSEMDBIY WEIGNL......ov i 6.89 kg. 13 E \ | / '
Force to collapse to minimum height (@ 0 BAR) 111 N. -
Style | Blind nuts, 3/4 BSP W01-M58-6066 1 -
128-1 | Blind nuts, 1/4 BSP W01-M58-6067 = /
Stength S
ren ic
Conq 210 ==
struction s (
x
£ | N
Os
M-8 1.25 = %
BLIND NUTS ; o I
15 mm DEEP el o
= = —
S6f
o L
> ll
| 5
- _ |~
*‘ M8=25 Nm # //)// | —
TORQUE = ,| |
404 i MAX 0.0, _/ | . il
2 U ! 2 / | e 1BAR | 8
| OPTIONAL | . -—."//
S HEIGHT S | | . 8915
0 RN ERN M S
N - o - 1% 170 150 130 110 % 70 |50
) MAX. Bumper  MIN.
2B HT. 187 Height mm. Contact HT. 51
69 mm
NOTE: A bead plate part is shown. This part is also avail- See page 12 for instructions on how to use chart.
able with bead rings. See pages 8-10 for explanation.
Dynamic Characteristics at 140mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height |@7BAR |@7BAR | @3 | @4 | @5 @6 @7
Gauge Spring Natural (mm) | (cucm) | (cmsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 160 11771 516 13.58 |19.08 | 24.39 |30.59 | 36.10
140 10492 649 18.07 |24.76 | 31.33 |38.72 | 45.44
3 18.07 416 2.39
4 24.76 529 231 120 9061 750 21.39 |28.92 | 36.48 |44.84 | 52.49
5 3133 646 297 100 7479 825 23.91 |32.03 | 40.34 (49.41 | 57.72
6 38.72 771 2923 80 5781 878 25.75 |34.28 | 43.15 |52.69 | 61.43
7 45.44 887 220 60 4002 9N 26.85 |35.69 | 44.94 |54.78 | 63.79

48

LDA




IBSTBUK@ IRMOUNT r resftone

NOTE: All Assembly Order Numbers are for bead plate RE&:%%EJ%EED Static Data
parts unless noted otherwise. ol B4561
Description Assembly Order No. 24T | s 12
Style | Blind nuts, 1/4 NPT WO1-358-8158 L Do not use Airstroke in
153-2 shaded area without
— consulting Firestone
Two ‘ |
Ply I |
Bellows 20 |—7BAR 4 10
Volume
N-.\ |
AsSEmbly WEIGht........ccoiuuemierinnieiciciieriesieniesssieeniens 7.86 kg N\ 8 BAR /
| , |
|
|
o i
3/8-16 BLIND NUTS /4 or 3/4 NPT = | [ | &
15.9 mm DEEP AIR INLET A | ] ' =
< ; 6 BAR
) | / _ =
AN 5
79.25 mm 8 12 | : ' ' 1 il ' 6 ‘-g
5 BAR
o | // LL
£ |
= ! ! . .
(@) | '
. /
40 Nim . 8 v Gl
TORQUE 158.5 mm | /
460 mm MAXIMUM 0.0, /
AT 7 BAR
U — LUJ i / .
2 BAR
HEIGHT 4 / f 2
A ) / T 1BAR |
|"—3‘I[} mm IJIAMETER——I // 1 1 i e
-F""'-'-—.-'_.'_——_F
/ B4561 |
O 1 1 | | | | | |
0
215 185 155 125 95 65
MAX. HT. Height mm. il
NOTE: A bead plate part is shown. This part is D "
also available with bead rings. See pages 8-10 See page 12 for instructions on how to use chart.
for explanation.
Dynamic Characteristics at 150 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height |@7BAR |@7BAR (@3 | @4 | @5 | @ | @7
Gauge Spring Natural (mm) {cu cm) (cmsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (KN/m) Hz 180 18085 586 14.48 |21.09 [27.34 |34.71 |41.03
165 17075 710 19.02 |26.49 |33.92 |42.34 |49.74
3 22.39 428.74 2.18 150 15865 808 |22.39 |30.72 |39.04 [48.29 |56.58
4 30.72 555.60 2.12 135 14493 890 25.09 |34.38 [43.44 |53.33 (62.31
5 39.04 673.69 207 120 13057 960 27.37 |37.61 |47.34 |57.70 (67.20
105 11469 1016 29.32 |40.21 | 50.50 |61.28 [71.18
6 48.29 794.88 2.02
90 9891 1054 30.76 |41.86 | 52.56 |63.81 |74.18
7 56.58 911.22 2.00
75 8291 1112 32.00 |43.34 |54.47 |66.62 |77.85

v LDA o



119

NOTE: All Assembly Order Numbers are for bead ring
parts unless noted otherwise.

Description Assembly Order No.
Style | Ribbed neck aluminum
19 bead rings (equal spacing),
45 mm bolts, nuts, washers | WO01-M58-6974
TP“I‘; Rubber bellows only W01-358-0119
Bellows | Rolled plate assembly,
1/2 blind nuts, 3/4 BSP SEE NOTE BELOW
Assembly weight...........ccoooiiiiiiii e 5.98 kg.
Force to collapse to minimum height (@ 0 BAR) 76 N.

TORGQUE

r=s—— 350 mm BOLT CIRCLE DIA,———==

— 42 mm MAX 0.D
Fii AT 7 BAR

|
HEIGHT
|

1

384 mm DIA.——J

NOTE: A bead plate part is shown. This part is also avail-
able with rolled plates. See page 11 for explanation.

Dynamic Characteristics at 125 mm Design Height
(Required for Airmount isolator design only)
Gauge Spring Natural
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz
) 26.86 599 2.35
4 36.82 766 2.27
5 46.53 934 2.23
6 57.15 1109 2.20
7 66.80 1269 2.7

20

18

(1000) _

iy
=

Volume cu.cm. X
[as]

! | | | | |

O { { | { {

180] 160 140 120 100 80 60
MAX. . MIN.,
HT. 177 Height mm. HT. 51

~ shaded area without
consulting Firestone

RECOMMENDED .
AIRMOUNT Static Data
DESIGN HEIGHT
125 mm. 6948
2NV AEENEEEEEEEEENEEEREREE
| Do not use Airstroke in | 8BAR

\/ 6 BAR

- / 5BAR = 60 —
2

/ @
o

/ :
L

AN

See page 12 for instructions on how to use chart.

Force Table (Use for Airstroke™ actuator design)
Assembly | Volume EFF Area kN Force

Height |@7BAR |@7BAR [ @3 | @4 | @5 | @6 | @7
(mmy) (cucm) | (emsq) | BAR | BAR | BAR | BAR | BAR
140 14081 847 23.26 [32.31 |40.96 |50.59 |59.29
130 13097 922 25.78 [35.46 |44.84 |55.17 |64.52
120 12133 982 27.78 |37.99 (47.98 |58.85 |68.74
110 11058 1033 [29.48 |40.18 | 50.67 |62.00 [72.34
100 10008 1075 [30.83 |41.97 |52.85 |64.53 |75.23
90 8840 1110 31.99 |43.53 |54.73 |66.70 |77.72
80 7704 1139 32.96 |44.81 |56.25 |68.45 [79.72
70 6445 1162 33.79 |45.85 |57.48 |69.86 [81.34

50

v LDA



AIIRSTROKE

ACTUATORS

RECOMMENDED .
NOTE: All Assembly Order Numbers are for bead ring el i Static Data
parts unless noted otherwise. 125 mm. 3044
— 28 T y
Description Assembly Order No. i RIEN
: : Do not use Airstroke in
S1t;|19 Eét;%egngicﬁglrnmn;ngcms || shaded area without
; : | consulting Firestone
——| nuts, washers W01-M58-6966 ] 0 ;"g e
wo
Ply Rolled plate assembly, 24 i
Bellows | 1/2 blind nuts, 3/4 BSP SEE NOTE BELOW i |
Rubber bellows only WO01-358-5135 \1\ |
N
ASSEMDIY WEIGHE. .. .. v.reeveeseessensessseseeseeeseesee 7.26 kg. 7 BAR \i
Force to collapse to minimum height (@ 0 BAR) 89 N. 20 VO|LUME N '
e T |
o | |
24 (1015 BOLTS 18_ L ‘ }/ |/ /SBAE-——' =)
<16 A s B X
: | / =
e | | =<
&) I ! 1 | ()
5 A o
o L ‘ | LE
o |
12 — : 6
5[ | /
O 1
L | A
“ M- g | / f/{l // 4 ) 4
40 Nim !
TORQUE = . // / ! BAR\
419 mm BOLT CIRCLE DIA, | | o -
| D4 . ot
l——ﬂ{‘mmMAXOD / /:’/ / ]
l_' i =
- | ‘/;,// [ ] [ 1BAR — 2
HH( HT Lt L
_] (= 3944
————————— 451 mm DIA ' | i
0 = L [ | | | | ] 0
170 | 150 130 110 90 70 510
HT. 165 Height il
: eignt mm. HT. 51
NOTE: A bead ring part is shown. This part is also avail- . .
able with rolled plates. See page 11 for explanation. See page 12 for instructions on how to use chart.
Dynamic Characteristics at 125 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height @7 BAR @7 BAR @3 @4 @s @b @i
Gauge Spring Natural (mm) (cu cm) (cm sq) BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 130 19228 1122 | 3041 | 4247 | 53.82 | 66.78 | 78.52
120 17985 1239 34.26 | 47.49 | 60.07 | 74.04 | 86.72
3 32.46 812 2.49
110 16552 1350 37.72 | 52.13 | 65.82 | 80.82 | 94.46
4 4513 1058 2.41
100 15121 1446 40,64 | 56.07 | 70.70 | 86.63 |101.20
5 57.13 1298 2.38
90 13511 1531 43.26 | 59.58 | 74.98 | 91.75 | 10717
6 70.61 1535 233
80 11939 1599 4555 | 6246 | 78.47 | 95.84 | 111.88
7 82.85 1750 2.29
70 10205 1653 47.72 | 64.98 | 81.51 | 99.23 | 115.66
v LDA .




126 Frrestone  [JBSIROKE

RECOMMENDED .
NOTE: All Assembly Order Numbers are for bead ring e i Static Data
parts unless noted otherwise. 125 mm. 8701
. 36 7 B 18
Description Assembly Order No. IR ! ]
; : Do not use Airstroke in e
Style | Ribbed neck alumlnum‘ — shaded area without || i 8 BAR
126 bead rings (equal spacing), — consulting Firestone / —
45 mm bolts, nuts, washers | W01-M58-6973 37 [k =i ! . 16
Two [ |
Pl Rolled plate assembly, =
Be“g’ws 1/2 blind nuts, 3/4 BSP SEE NOTE BELOW = - |
Rubber bellows only W01-358-1026 —\ ‘ | /
26 N -~ 14
Assembly weight...........cviniinnmiiameieiae 9.66 kg. I !
7
Force to collapse to minimum height (@ 0 BAR) 111 N. VOL ;
=24 — / 12
=2 I
3 _ o
24 (M-10%7.5) BOLTS — i
EACH RING ——_ i x
X 20 e il 10 =
£ X
3} [}
= =
O = @)
© 16 g L
E L
=
o
= =
12 |/ 6
. /
TORQUE )
i~—— 482 mim BOLT CIRCLE DIA ———=1 8 / [ — 5 BAR \ 4
569 mm MAX 0.D, \
= AT 7 BAR N
Z m— = —— L
HEIGHT 1BAR
B J P |
= 8701 —
517 mm DIA. o Ll | | | | I
180] 140 120 100 80 60 |
MAX. MIN.
HT. 177 Height mm. HT. 51
NOTE: A bead ring part is shown. This part is also avail- . .
able with rolled plates. See page 11 for explanation. See page 12 for instructions on how to use chart.
Dynamic Characteristics at 125 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
. Height |@7BAR |@7BAR | @3 | @4 @5 @6 @7
Gauge Spring Natural (mm) | (cucm) | (cmsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 160 | 27186 | 1355 |37.05 51.09 |64.81 |80.58 |94.86
3 53.10 1184 235 140 23871 1660 47.71 |64.48 |81.24 |99.48 |116.20
4 71.42 1512 229 120 | 20206 | 1863 |54.46 |73.23 [91.96 [111.95 [130.41
5 89.75 1828 295 100 | 16216 | 2006 |58.95 |79.48 [99.52 [120.68 [140.38
6 109.40 2154 221 80 | 12022 | 2101 |62.03 |83.35 [104.45[126.58 [147.09
7 127.49 2458 219 60 7743 | 2153 [63.76 |85.23 [106.86/129.60 |150.66

¥ v LDA



[IIRSTROKE

IRMOUNT

Fiwrestone 138.1.5

NOTE: All Assembly Order Numbers are for bead ring FERRMOUNT Static Data
parts unless noted otherwise. DI T aE7E
Description Assembly Order No. 64 \ ] T BRARE T 32
Style | Ribbed neck aluminum B \_ | | |Do not use Airstroke in
138-1.5 | bead rings (equal spacing), N shaded area without | i — T
High | 45 mm bolts, nuts, washers | W01-M58-6972 \\ consulting Firestone =
Strength | Rubber bellows onl W01-358-0147 56 [=7 R N 28
Con- | " WS ony _ VOLUME
struction ' |
i |
Assembly weight.......ciniinniimnneiiisien 11.11 kg. = |
Force to collapse to minimum height (@ 0 BAR) 667 N. 48 | 24
|
& | /
32 (M-10% 1.5) BOLTS 840 | / 20 ©
-ACH RING = | L/ —
= / / X
x | L -
E I {/ 1 >/ s | @
=32 f 6 Q
o L | / o
(0)) : | L
5 L _ 4BAR _|
e AT T e
TORQUE | L ! =
=—— 596 mm BOLT CIRCLE DIA———=1 . | | | || 8
709 mm MAX 0.D. [ | / I
AT 7 BAR | [ [ | T | 2BAR-
Z|pEann
HEIGHT ! ! . I 4
T | l - I f-—--*’”""_ 1BAR
L— 638 mml)ln.——l f/ : 3575
o LCLLL EEEEE RN RR AN L] o
220] 200 180 160 140 120 100 80 60 i
MAX. . MIN.
HT. 215 Height mm. HT. 51
NOTE: A bead ring part is shown. This part is also avail- .
able with rolled plates. See page 11 for explanation. See page 12 for instructions on how to use chart.
Dynamic Characteristics at 150 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height |@7BAR |@7BAR | @3 | @4 | @5 @6 @7
Gauge Spring Natural (mm) | (cucm) | (cmsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 180 | 56558 | 2200 |60.35 |8340 |106.09 (13140 |153.99
160 51417 2573 | 73.03 | 99.66 |125.96 |154.37 | 180.09
3 78.40 1361 2.08
140 45680 2871 | 83.06 [112.54 | 141.62 [172.60 | 200.97
4 106.51 1742 2.02 120 39615 3120 | 91.25 {123.17| 154.62 [187.80 | 218.40
5 134.29 21 1.98 100 | 33114 | 3322 | 97.72 |131.55|165.06 |200.15 | 232.53
6 164.07 2488 1.94 80 26237 3471 |102.53 {137.62| 172.72 |209.27 | 242.92
7 191.19 2844 1.92 60 19043 3567  [105.89 (141.79 | 177.80 |215.18 | 249.69
A L DA 53




148-1 Tivestone  JUESTROKE JiBypint

ACT 5

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead ring DE@:‘;ﬂ%UETgHT Static Data
parts unless noted otherwise. 140 mm. 8411
S 12 60
Description Assembly Order No. BEEERE [T T TTTT]
Style | Ribbed neck aluminum N E;;&gh”:ig:‘;si?r}%ku‘i "
148-1_| bead rings (equal spacing), = \N consulting Firestone o
Tgh 45 mm bolts, nuts, washers | W01-M58-6969 |l
Stéength Rubber bellows only W01-358-1021 B | /
striction 10 (—7BAR 1 o "8 BAR —| 50
| VOLUME| ] |
Assembly Weight............cciiniiiii e 21.00 kg. \ /
f
Force to collapse to minimum height (@ 0 BAR) 1378 N.
8

Volume cu.cm. x (1000)
Force kN x 10

/

/

=

* M10=

HEIGHT

I

AN

T

40 Nm /
TORQUE J/
r=—— 830 mm BOLT CIRCLE DIA.—= //
950 mm MAX 0.D. 2 y
@ AT 7 BAR //

: . | |
' i 8411
| AN R Lol gt
0 il il
Bttt b 20| 20 180 160 140 120 100 8 |60
MAX. MIN.
HT. 215 Height mm. Al
NOTE: The effective length of the 45 mm bolt is 23 mm See page 12 for instructions on how to use chart.

in this bead ring.

Dynamic Characteristics at 140 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume EFF Area kN Force
Height | @ 7 BAR | @ 7 BAR @3 @4 @5 @6 @7

Gauge Spring Natural (mm) | (cucm) | (emsq) | BAR | BAR | BAR | BAR | BAR

Pressure Load Rate Frequency

(BAR) (kN) (kN/m) Hz 180 | 100532 | 4456 |126.24 [174.51|218.75|266.95| 311.89
3 159.12 2747 207 160 90826 4998 | 144.99|197.24| 247.10 300.31| 349.83
4 214.60 3485 201 140 79989 5450 |159.12|214.60| 268.86 | 327.14| 381.44
5 268.86 4248 1.98 120 68618 5857  |170.91|230.51| 289.23 | 351.92| 409.95
6 32714 5077 1.96 100 56587 6199 | 181.41|245.45| 307.57 | 373.08| 433.88
7 381.44 5830 1.95 80 44091 6455 |191.45|257.88| 321.60 | 388.59| 451.81

. v LDA



We look forward to your application.

LDA Belgium

Hoge Buizen 53
1980 Eppegem
Belgium

Tel. +32 (0)2-266 13 13
Mail: LDA@LDA.be

www.LDA.be



